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Probabilistic Models  
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 = P(X > 𝑅𝑂𝑃) =probability of rupture 
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Project Management 

 

EF = ES +  activity duration 

 

LS = LF – activity duration 

 

Slack = LS – ES  = LF– EF 

 

Crash cost per period =
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Waiting Line Models 

 

qq WL =   ; SS WL =  ;   /+= qS LL ;   /1+= qS WW  
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P(n > k) = k+1 
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Scheduling 

CR =
Pr omise Date Actual date

Number of daysof work

−
 

 

Usage =
Total work time

Sum of flow time
 

 

 

  

 

 

Average conclusion time =
Sum of Flow Time

Number of jobs
 

 

Average delay = 
Total timedelay

Number of jobs
 

 

Average number of jobs in the 

system=
Sum of flow time

Total timeof work
 

 

Process Statistical Control 

 

𝐿𝑆𝐶𝑋̅ =  𝑋̿ + 𝐴2 × 𝑅̅               

𝐿𝐼𝐶𝑋̅ =  𝑋̿ − 𝐴2 × 𝑅̅   

𝐿𝐶𝑋̅ =  𝑋̿  
 

𝐿𝑆𝐶𝑅 =  𝐷4 × 𝑅̅   
𝐿𝐼𝐶𝑅 =  𝐷3 × 𝑅̅   
𝐿𝐶𝑅 =  𝑅̅ 

𝐿𝑆𝐶𝑐 =  𝑐̅ + 3 × √𝑐̅   

𝐿𝐼𝐶𝑐 =  𝑐̅ − 3 × √𝑐̅   
𝐿𝐶𝑐 =  𝑐̅ 
 

 

 

 



 

 

𝐶𝑝𝑘 = min(𝐶𝑝𝑘𝑖; 𝐶𝑝𝑘𝑠) 

 

𝐶𝑝 =
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6 × 𝜎
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3 × 𝜎
 𝑒   𝐶𝑝𝑘𝑠 =

𝐿𝑆𝐸 − 𝜇

3 × 𝜎
  

 

 

 

𝐿𝑆𝐶𝑝 =  𝑝̅ + 3 × √
𝑝̅(1 − 𝑝̅)

𝑛
 

𝐿𝐼𝐶𝑝 =  𝑝̅ − 3 × √
𝑝̅(1 − 𝑝̅)

𝑛
 

𝐿𝐶𝑝 =  𝑝̅ 

 

 

 

Capacity and Constraints Management 

 

Capacity u𝑠𝑎𝑔𝑒 =  
Actual Output

C𝑎𝑝𝑎𝑐𝑖𝑡𝑦 design
 

 

Eficiency =  
Actual output

Effective output
 

 

 

Capacity =  
1

Cycle time
 

 

 


